Monday 20th April 2020
Lesson 1 EXTENSION: reasoning & problem solving

1. Which image is the odd one out? Explain your reasoning. 
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2. Which image is the odd one out? Explain your reasoning. 
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3. [image: ]Bill buys 2 boxes of chocolates. Each box has 5 chocolates inside.





Is he correct? Draw images to support your answer. 

4. Amelia buys 5 packs of stickers for her book. Each packet has 2 stickers. 
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Is she correct? Draw images to support your answer. 
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2a. Bill buys 2 boxes of chocolates. Each
box has 5 chocolates inside.

There are enough
chocolates for 12 of
us to have one each.

2lotsof 5 =

Is he correct? Draw images to support
your answer.
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2b. Amelia buys 5 packs of stickers for her
book. Each packet has 2 stickers.

I will have 10 stickers
altogether.
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5lotsof 2=

Is she correct? Draw images to support
your answer.
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3a. Complete the image and calculation
below to match the story.

3 tables are left in the school hall. Each table
has an equal amount of cakes.
How many cakes are there altogether?
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3lots of 3 =

3b. Complete the image and calculation
below to match the story.

There are 4 nests in a free. There are 4 eggs in
each nest.
How many eggs are there altogether?

&

4 lots of 4 =
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1a. Circle the image that is the odd one
out. Explain why.
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2a. Bill buys 2 boxes of chocolates. Each
box has 5 chocolates inside.

There are enough
chocolates for 12 of
us to have one each.

2lotsof 5 =

1b. Circle the image that is the odd one
out. Explain why.
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2b. Amelia buys 5 packs of stickers for her
book. Each packet has 2 stickers.

I will have 10 stickers
8\ altogether.
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5lotsof 2 =
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2b. Amelia buys 5 packs of stickers for her
book. Each packet has 2 stickers.

I will have 10 stickers
8\ altogether.
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